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SUM (2181, 281E2, ---.)
A1=6 A2=7 A3=8
=SUM (6, 8) =14

=SUM (A1, A3) =6+8=14
=SUM (A1:A3) =6+7+8=21

SUMIF Ge[El, &, ZEkM
SEED

| A B C
1 100 20 1000
2 200 A0 2000
3 300 &0 3000

=SUMIF (A1:A3, “>=200" ,B1:
B3) =100

=SUMIF (A1:A3, “>=200" ,C1:
C3)=5000
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COUNT IF

COUNTIF GEE, &)

A B C

1 100 20 1000

2 200 40 2000

3 300 60 3000
=COUNT IF (A1:A3, “>=200” )=2
=COUNT IF (A1:A3, “>200” )=1
COUNT (#i181, #{#2, ---.)

| A B C

1 100 20 1000

2 200 40 2000

3 300 60 3000
=COUNT (A1:A3)=3
=COUNT (B1:B3)=3



AVERAGE (3181, #1&2, ---.) ROUNT (B1&, /M)

A B C =B SR E W ESE N A B C
1 100 20 1000 AVERAGE ROUND 1 100 20 1000
2 200 40 2000 < ------------- s 2 200 40 2000
3 300 60 3000 7 200 60 3000
=AVERAGE (A1:A3) =200 =ROUND (A1/A3, 2)=0. 33

=AVERAGE (A1:A3,B1)= =ROUNDUP (A1/A3, 2) =0. 34

=ROUNDDOWN (A1/A3, 2)=0. 33
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YEAR(HEH)
A1=2020-10-13 EHi—
=YEAR(A1)=2020
: MONTH(BEA)
% g}gﬁﬁf A1=2020-10-13 £~
=MONTH(A1)=10

: DATE(HER)
4 ’ngﬁ;gAﬁ A1=2020-10-13 £8§—
IIE =DATE(A1)=13
EEREHKS OV _
A1=2020-10-13 £Hi—
RERSHE _Now()=2020-10-13 16:26

TODAY()
[EINOW

A1=2020-10-13 2H—
=TODAY()=2020-10-13
3 on WEEKDAY (HH)
%%g%g A1=2020-10-13 28—
WEEKDAY =WEEKDAY (A1) =3
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ISERROR()

HwEHA: #N/A . #WALUE, #REF, #DIV/0,

#NUM_ #NAME?ai#NULLETSTRUE
=ISERROR (#N/A) =TRUE

AXEE HERE#N/ASE ISNA

ISNA()
¥EEgh)y: #N/ARTITRUE
=ISNA(#N/A)=TRUE



AND (%)

}JESHREMEEIYFTRUE, NJFITRUE;
UNERIE—/HIFALSE, MJ9FALSE
=AND(5>3,2>1)=TRUE
=AND(1>3, 2>1)=FALSE

1G=(iget oR (&)

HEam ESTHRHEIAFALSE, WAFALSE;
G0ROR tNSRIE—/ATRUE, MFATRUE
=OR (5>3,2>1)=TRUE
=OR( 1>3,2>1)=TRUE
=OR(1>3,2>5)=FALSE

—0

BEMERT NOT (K

SREREGOUT RS HFMEEFALSE, MATURE;
ANERATRUE, MIJIFALSE
=NOT (5>3)=FALSE
=NOT(1>3)=TRUE



ZZ/ EHURBILEFT RIGHT MID
LEFT (wenben XA, #{H) Ml

RIGHT OCA, HE) MATILAHL
MID (A, H4a67, EE) M HEEEL
=LEFT ( “abcdef” , 2) =ab

EEgahsREsesmrn 7 J “RIGHT ( “abcdef” , 2) =ef
\ |

FIND (XA, vuRl, #E) =MID ( “abcdef” , 2,3) =bcd
BN PRER DR PR E
FUER BT LA

=FIND( “a” , “abcaef” ,1)=1

=FIND C “a” , “abcaef” , 2) =4

[]3 &3 =27 % B CONCATENATE

CONCATENATE (CAL, ...)
HHFIH
=CONCATENATE ( “a” , “ef” )=aef
HEEHFKELEN 4
LEN (34

TR K
=LEN ( “abcdef” )=6




BR{ERE A SCATEXT
TEXT (EUfH, %0
BEUEFE AR, 25— /RN0.

=TEXT (1234,0) =1234

/1)
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[]5 LLBREANFE R STTEMEFFEXACT
EXACT (LA, CA2)

LA AT 5 e AT, 2N NTRUE,
M HFALSE.
=EXACT( “a” , “a” ) =TRUE
=EXACT ( “a” , “ab” =FALSE
=EXACT ( “a” , “A” ) =FALSE

[]7 S8 ER T RS EVALUE

VALUE (HUESCA)
W SO BE F A B
=VALUE ( “1234” ) =1234
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